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Rubric 
Parts A and B are machine scored. 

M500028PD Rubric - Part A 

Score Description 

1 Modeling = 1 point: Student response is Option A and Option F. 

0 Student response is incorrect or irrelevant. 
 

M500028PD Rubric - Part B 

Score Description 

1 Computation = 1 point: Student response is Option B, 21
2
. 

0 Student response is incorrect or irrelevant. 
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M500028PD Holistic Rubric Part C 

Score Description 

4 

Student response includes the following 4 elements: 

• Modeling = 1 point: Valid explanation of how to adjust the recipe to 
make 30 servings of fruit salad 

• Modeling = 1 point: Valid explanation or work to find total amount of 
sugar needed for 30 servings, including correct computations 

• Modeling = 1 point: Valid explanation or work to find the total amount 
of juice needed for 30 servings, including correct computations 

• Modeling = 1 point: Valid explanation or work to find the total amount 
of fruit needed for 30 servings, including correct computations 

Complete achievement of the goals of the task, the response is completely 
correct, and shows thorough understanding. 

Sample Student Response: 

The recipe makes 5 servings. To get 30 servings, the recipe would need to be 
used 6 times. I can multiply each item in the recipe by 6 to get the total 
amount of each item needed to make 30 servings. 

Sugar: 4
8

× 6 = 24
8

= 3 cups 

Juices: 3
8

+ 2
8

= 5
8
→ 5

8
× 6 = 30

8
= 3 6

8
 cups 

Fruit: 3
8

+ 1 + 7
8

+ 1 1
8

= 2 11
8

= 3 3
8
 

          3 3
8

× 6 = 27
8

× 6 = 162
8

= 20 2
8
 cups 

Note: Three correct computations, with no explanation or work shown, 
receives a score point of 1.  

3 Student response demonstrates both general achievement of the goals of the 
task and a less than thorough understanding. 

2 Student response demonstrates both limited achievement of the goals of the 
task and a limited understanding. 

1 Student response demonstrates both minimal achievement of the goals of the 
task and a minimal understanding. 

0 Student response does not achieve any goals of the task nor demonstrates any 
understanding. 
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Anchor Set 
A1 – A15 
With Annotations 
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Anchor Set 

 

Anchor papers are labeled using a capital “A” followed by the sequence number (e.g., 
A1, A2). 

Anchor papers include  

o The prompt.  

o The student response.  

o A score in the top right corner. 

The annotation follows the anchor paper, and  

o Is aligned to the rubric. 

o Contains parts of the student response(s) that, based on the rubric, support 
the scoring of each element.  

o Reflects the original spelling and grammar of student response(s).  

 Example of scoring element within an annotation, with student 
response language (in parentheses): 

The correct fraction to represent the location of point G is given (the 
fracktion equeals 2

6
). 

o May contain Scoring Decisions or clarifying notes. 

The Anchor Set section is followed by a practice set with a scoring matrix. Annotations 
are not included in the Practice Set section. 
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A1 
Part C: 4 
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Annotation  

Anchor Paper 1 
 
Part C: Score Point 4 
This response receives full credit. It includes each of the four required elements: 
 

• A valid explanation of how to modify the recipe to make 30 servings is provided. 
The student response shows understanding that the recipe is adjusted by 
multiplying by 6 (Joey should add every category together, and then multiply it 
by six).  

 
• A valid explanation or work to find the amount of sugar needed for 30 servings, 

including correct computation, is provided (4
8
 × 6 = 3). 

 
• A valid explanation or work to find the total amount of juice needed for 30 

servings, including correct computation, is provided (5
8
 × 6 = 3 6

8
). The student 

response correctly shows adding the amounts of lemon juice and orange juice to 
find the amount of juice needed for 5 servings. That amount is multiplied by 6 to 
find the total amount of juice needed for 30 servings.  

 
• A valid explanation or work to find the total amount of fruit needed for 30 

servings, including correct computation, is provided (3 3
8
 × 6 = 20 2

8
). The student 

response correctly shows adding each amount of fruit to find the amount of fruit 
needed for 5 servings. That amount is multiplied by 6 to find the total amount of 
fruit needed for 30 servings.  
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A2 
 Part C: 4 
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Annotation  

Anchor Paper 2 
 
Part C: Score Point 4 
This response receives full credit. It includes each of the four required elements: 
 

• A valid explanation of how to modify the recipe to make 30 servings is provided. 
The student response shows understanding that the recipe is adjusted by 
multiplying by 6 (Joey should multiply every item by 6).  

 
• A valid explanation or work to find the amount of sugar needed for 30 servings, 

including correct computation, is provided (4
8
 × 6 = 3). 

 
• A valid explanation or work to find the total amount of juice needed for 30 

servings, including correct computation, is provided (5
8
 × 6 = 3 6

8
). The total 

amount of lemon juice and orange needed for 5 servings is multiplied by 6 to 
find the total amount of juice needed for 30 servings.  
 
Note: Student response is not required to show the addition of the two kinds of 
juice to find the total for 5 servings to receive credit for this element. 

 
• A valid explanation or work to find the total amount of fruit needed for 30 

servings, including correct computation, is provided (3 3
8
 × 6 = 20 2

8
). The amount 

of fruit needed for 5 servings is multiplied by 6 to find the total amount of juice 
needed for 30 servings.  
 
Note: The addition of all fruit amounts to find the total for 5 servings is not 
required to receive credit for this element. 
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A3 
 Part C: 4 
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Annotation  

Anchor Paper 3 
 
Part C: Score Point 4 
This response receives full credit. It includes each of the four required elements: 
 

• A valid explanation of how to modify the recipe to make 30 servings is provided 
(sould multiply everything by 6). The student response shows understanding 
that the recipe is adjusted by multiplying by 6.  

 
• A valid explanation or work to find the amount of sugar needed for 30 servings, 

including correct computation, is provided (4
8
 × 6 = 24

8
). 

 
• A valid explanation or work to find the total amount of juice needed for 30 

servings, including correct computation, is provided (5
8
 × 6 = 30

8
). The total 

amount of lemon juice and orange needed for 5 servings is multiplied by 6 to 
find the total amount of juice for 30 servings.  
 
Note: The addition of the two kinds of juice to find the total for 5 servings is not 
required to be shown to receive credit for this element. 

 
• A valid explanation or work to find the total amount of fruit needed for 30 

servings, including correct computation, is provided (3 3
8
 × 6 = 162

8
). The total 

amount of fruit needed for 5 servings is multiplied by 6 to find the total amount 
of juice needed for 30 servings.  
 
Notes: The addition of all fruit amounts to find the total for 5 servings is not 
required to receive credit for this element. 

 
The fractions are not simplified, which does not detract from receiving credit. 
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A4 
 Part C: 3 
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Annotation  

Anchor Paper 4 
 
Part C: Score Point 3 
This response receives partial credit. It includes three of the four required elements: 
 

• A valid explanation of how to modify the recipe to make 30 servings is provided. 
The student response shows understanding that the recipe is adjusted by 
multiplying by 6 (Joey should adjust the recipe by multiplying all the ingredients 
by 6).  

 
• A valid explanation or work to find the amount of sugar needed for 30 servings, 

including correct computation, is provided (4
8
 × 6 = 3). 

 
• A valid explanation or work to find the total amount of juice needed for 30 

servings, including correct computation, is provided (5
8
 × 6 = 3 3

4
). The amount of 

lemon juice and orange juice needed for 5 servings is multiplied by 6 to find the 
total amount of juice for 30 servings. 

 
Although the explanation or work to find the total amount of fruit needed for 30 
servings is shown (27

8
 × 6), the computation is incorrect (301

4
). The response must 

provide correct work with correct computation to receive credit for this element. 
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A5 
 Part C: 3 
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Annotation  

Anchor Paper 5 
 
Part C: Score Point 3 
This response receives partial credit. It includes each of the four required elements; 
however, a precision point is deducted: 
 

• A valid explanation of how to modify the recipe to make 30 servings is provided. 
The work shown for all ingredients supports the understanding that the recipe is 
adjusted by multiplying by 6. 
 
Note: No verbal explanation is included, but the understanding is shown in the 
work, since each ingredient is multiplied by 6. 

 
• A valid explanation or work to find the amount of sugar needed for 30 servings, 

including correct computation, is provided (4
8
 × 6

1
= 24

8
= 3). 

 
• A valid explanation or work to find the total amount of juice needed for 30 

servings, including correct computation, is provided (3
8

+  2
8 

=  5
8

× 6
1

= 30
8

= 3 6
8
 ). The 

total amount of lemon juice and orange needed for 5 servings is multiplied by 6 
to find the total amount of juice for 30 servings.  

 
• A valid explanation or work to find the total amount of fruit needed for 30 

servings, including correct computation, is provided (3
8

+  7
8 

+ 8
8

+  9
8 

= 27
8

× 6
1

= 162
8

 = 
20 2

8
).  The amount of fruit needed for 5 servings is multiplied by 6 to find the 

total amount fruit for 30 servings. The work is provided for finding the total 
amount of juice and fruit for 30 servings but includes run-on equations (3

8
+  2

8 
… =

3 6
8
). 

 
Note: A Scoring Decision exists when a run-on equation occurs in a response 
and the response would have received the top score [score point 4 for this item] 
without the run-on equation, a precision score point will be deducted. This is a 
top score point response and a precision point is deducted for the run-on 
equation and the response scores a 3. 
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A6 
 Part C: 3 
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Annotation  

Anchor Paper 6 
 
Part C: Score Point 3 
This response receives partial credit. It includes three of the four required elements: 
 

• A valid explanation or work to find the amount of sugar needed for 30 servings, 
including correct computation, is provided (4

8
 × 30

1
= 120

8
= 15). 

 
• A valid explanation or work to find the total amount of juice needed for 30 

servings, including correct computation, is provided (5
8
 × 30

1
= 18 6

8
). The student 

response correctly shows adding the amounts of lemon juice and orange juice to 
find the total juice needed for 5 servings. That amount is multiplied by 30 to find 
the total amount of juice for 30 servings.  

 
• A valid explanation or work to find the total amount of fruit needed for 30 

servings, including correct computation, is provided (27
8
 × 30

1
= 810

8
= 101 1

4
). The 

student response correctly shows adding all fruit amounts to find the total fruit 
needed for 5 servings. That amount is multiplied by 30 to find the total amount 
of fruit for 30 servings.  

 
The explanation of how to modify the recipe to make 30 servings is incorrect (should 
multiply the amount for one serving by 30 for all the ingredients). The student 
response indicates misunderstanding that the given amounts are for 1 serving instead 
of 5 and multiplies each ingredient by 30. 
 

Note: A Scoring Decision exists when elements in the rubric are independent of 
each other. If a response makes an error in a previous element and uses the 
incorrect answer in the next element, the response can receive full credit for 
correctly using the incorrect answer from the previous element. This response 
provides an incorrect process to modify the recipe, but correctly uses this 
incorrect process to find all the amounts of the ingredients needed in the recipe. 
After the initial error in understanding, the response shows correct follow- 
through for all the ingredients and receives credit for appropriate work and 
computations. 
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A7 
 Part C: 2 
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Annotation  

Anchor Paper 7 
 
Part C: Score Point 2 
This response receives partial credit. It includes two of the four required elements: 
  

• A valid explanation of how to modify the recipe to make 30 servings is provided 
(I added every fraction six times). The work for all the ingredients clarifies the 
understanding that the recipe is adjusted by adding each fraction six times.  

 
• A valid explanation or work to find the amount of sugar needed for 30 servings, 

including correct computation, is provided (4
8
 + 4

8
+ 4

8
+ 4

8
 + 4

8
 + 4

8
 = 3). The amount 

of sugar needed for 5 servings (4
8
) is added 6 times to find the correct amount of 

sugar for 30 servings (3 cups).  
 
The response does not add the juices needed for 5 servings. Each juice is added 6 
times individually. The response does not receive credit for this element unless the 
total amount of the orange and lemon juices for 30 servings are calculated. The 
computation for lemon juice is also incorrect. 
 
The response does not add each amount of fruit needed for 5 servings. Each amount 
of fruit is added 6 times individually. The response does not receive credit for this 
element unless the total amount of fruit for 30 servings is calculated. The computation 
is also incorrect for blueberries and pineapple. The student response omits grapes. 
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A8 
Part C: 2 
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Annotation  

Anchor Paper 8 
 
Part C: Score Point 2 
This response receives partial credit. It includes two of the four required elements: 
 

• A valid explanation of how to modify the recipe to make 30 servings is provided. 
The work for all the ingredients clarifies the understanding that the recipe is 
adjusted by multiplying by 6. 
 
Note: No verbal explanation is included, but the understanding is clarified in the 
work since each ingredient is multiplied by 6. 

 
• A valid explanation or work to find the total amount of juice needed for 30 

servings, including correct computation, is provided (5
8
 × 6 = 3 3

4
). The total 

amount of lemon juice and orange needed for 5 servings is multiplied by 6 to 
find the total amount of juice for 30 servings. 

 
Although the explanation or work to find the total amount of sugar needed for 30 
servings is shown (4

8
 × 6), the computation is incorrect (24).  

 
Although the explanation or work to find the total amount of fruit needed for 30 
servings is shown (3 3

8
 × 6), the computation is incorrect (51

4
).  
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A9 
Part C: 2 
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Annotation  

Anchor Paper 9 
 
Part C: Score Point 2 
This response receives partial credit. It includes two of the four required elements: 
 

• A valid explanation of how to modify the recipe to make 30 servings is provided. 
The student response shows understanding that the recipe is adjusted by 
multiplying by 6 (The amount that joey will need to make a 30 severving is 6x 
as much).  

 
• A valid explanation or work to find the amount of sugar needed for 30 servings, 

including correct computation is provided (3 cups of sugar; 4
8
 × 6). The work is 

shown in the drawing box. 
 
The response does not add the juices needed for 5 servings. Each juice is multiplied by 
6 individually (22

8
 cups of lemon; 3

8
 × 6;  1 4

8
 cups of organge; 2

8
 × 6). The response does 

not receive credit for this element unless the total of the orange and lemon juices for 
30 servings are calculated.  
 
The explanation or work to find the total amount of fruit needed for 30 servings is not 
shown. 
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A10 
Part C: 1 
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Annotation  

Anchor Paper 10 
 
Part C: Score Point 1 
This response receives partial credit. It includes one of the four required elements: 
 

• A valid explanation of how to modify the recipe to make 30 servings is provided. 
The student response shows understanding that the recipe is adjusted by 
multiplying by 6 (Joey should multiply the recipies by 6).  

 
Although the explanation or work to find the total amount of sugar needed for 30 
servings is shown (4

8
 × 6), the computation is incorrect (24

48
). The student response 

shows multiplying 6 to the numerator and the denominator. 
 
Although the explanation or work to find the total amount of juice needed for 30 
servings is shown (5

8
 × 6), the computation is incorrect (30

48
). The student response 

shows multiplying 6 to the numerator and the denominator. 
 
The explanation or work to find the total amount of fruit needed for 30 servings is 
incomplete. All the fruit amounts are added together but the total is not multiplied by 
6. 
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A11 
Part C: 1 
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Annotation  

Anchor Paper 11 
 
Part C: Score Point 1 
This response receives partial credit. It includes one of the four required elements: 
 

• A valid explanation of how to modify the recipe to make 30 servings is provided. 
The student response shows understanding that the recipe is adjusted by 
multiplying by 6. The student response shows adding the amount of sugar to the 
amounts of juices and fruit and then multiplies the total by 6 to adjust the recipe 
for 30 servings (4

8
+  5

8
+ 2 +  11

8
= 4 4

8
;  4 4

8
 × 6 = 27). 

 
The response does not receive credit for other elements since the total amount for 
each ingredient is not computed separately. 
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A12 
Part C: 1 
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Annotation  

Anchor Paper 12 
 
Part C: Score Point 1 
This response receives partial credit. It includes one of the four required elements: 
 

• A valid explanation of how to modify the recipe to make 30 servings is provided. 
The student response shows understanding that the recipe is adjusted by 
multiplying by 6 (she should do it 6 times bigger). 

 
The explanation or work to find the total amount for each set of ingredients is not 
provided. 
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A13 
Part C: 0 
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Annotation  

Anchor Paper 13 
 
Part C: Score Point 0 
This response receives no credit. It includes none of the four required elements. 
 
The explanation of how to modify the recipe to make 30 servings is not provided. The 
student response shows adding the ingredients together to find the total amount for 5 
servings but does not multiply by 6 to adjust the recipe for 30 servings (4

8
+  3

8
+ 2

8
+ 3

8
+

1 + 7
8

+  1 1
8

= 4 1
2
). 

 
The explanation or work to find the total amount for each set of ingredients is not 
provided. 
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A14 
Part C: 0 
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Annotation  

Anchor Paper 14 
 
Part C: Score Point 0 
This response receives no credit. It includes none of the four required elements. 
 
The explanation of how to modify the recipe to make 30 servings is incorrect. The 
student response indicates misunderstanding that 30 servings would need 3 times 
more ingredients instead of 6 (we need to add the things in the salad 3 times). 
 
The student response shows correct follow-through of the error by adding sugar and 
juices 3 times. However, sugar and juices are clumped together. Therefore, the 
response does not receive credit for amount of sugar or juice (4

8
 + 4

8
+  4

8
+ 3

8
+ 3

8
+  3

8
 +

 2
8

+  2
8

+  2
8

= 3 6
8
). 

 
Although the student response shows appropriate work for finding amounts of fruit 
based on the error for element 1 in the work by adding each type of fruit 3 times, the 
computation is incorrect (3

8
+  3

8
+ 3

8
+ 1 + 1 + 1 +  7

8
 + 7

8
+ 7

8
+ 1 1

8
+ 1 1

8
+  1 1

8
=  9 4

8
). The 

appropriate follow-through computation would be 101
8
, not =  9 4

8
. 

 
Note: A Scoring Decision exists when elements in the rubric are independent of 
each other. If a response makes an error in a previous element and uses the 
incorrect answer in the next element, the response can receive full credit for 
correctly using the incorrect answer from the previous element. This response 
provides an incorrect process to modify the recipe, but incorrectly uses this 
incorrect process to find all the amounts of the ingredients needed in the recipe. 
After the initial misunderstanding, the response shows an incorrect follow-
through for all the ingredients, and therefore, does not receive credit for 
subsequent elements.  

 
Contrast with Anchor Paper 6 which correctly follows through with an incorrect process 
and receives credit for correct calculations of the ingredients. 
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A15 
Part C: 0 
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Annotation  

Anchor Paper 15 
 
Part C: Score Point 0 
This response receives no credit. It includes none of the four required elements. 
 
The explanation of how to modify the recipe to make 30 servings is not provided. The 
response incorrectly multiplies the 30 servings by 5 (30 × 5 = 150 servings).  
 
The explanation or work to find the total amount for each set of ingredients is not 
provided. 

 
  



© 2022 CCSSO, LLC M500028PD Page 37 of 48 

 

Practice Set 1 
P1-1 – P1-10 
Annotations Not Included 
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P1-1 
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P1-2 
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P1-3 
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P1-4 

 
  



© 2022 CCSSO, LLC M500028PD Page 42 of 48 

P1-5 
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P1-6 
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P1-7 
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P1-8 
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P1-9 
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P1-10 
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Practice Set Paper Score 

P1-1 3 
P1-2 2 
P1-3 1 
P1-4 3 
P1-5 3 
P1-6 1 
P1-7 2 
P1-8 2 
P1-9 4 

P1-10 3 
 


	Prompt
	Rubric
	Anchor Set

	A1
	Part C: 4

	A2
	Part C: 4

	A3
	Part C: 4

	A4
	Part C: 3

	A5
	Part C: 3

	A6
	Part C: 3

	A7
	Part C: 2

	A8
	Part C: 2
	A9
	Part C: 2

	A10
	Part C: 1

	A11
	Part C: 1

	A12
	Part C: 1

	A13
	Part C: 0

	A14
	Part C: 0

	A15
	Part C: 0

	P1-1
	P1-2
	P1-3
	P1-4
	P1-5
	P1-6
	P1-7
	P1-8
	P1-9
	P1-10

